

THE FACTORIAL CONJECTURE AND IMAGES OF LOCALLY NILPOTENT DERIVATIONS

DAYAN LIU and XIAOSONG SUN[✉]

(Received 11 March 2019; accepted 24 March 2019; first published online 20 May 2019)

Abstract

The factorial conjecture was proposed by van den Essen *et al.* [‘On the image conjecture’, *J. Algebra* **340**(1) (2011), 211–224] to study the image conjecture, which arose from the Jacobian conjecture. We show that the factorial conjecture holds for all homogeneous polynomials in two variables. We also give a variation of the result and use it to show that the image of any linear locally nilpotent derivation of $\mathbb{C}[x, y, z]$ is a Mathieu–Zhao subspace.

2010 *Mathematics subject classification*: primary 14R15; secondary 13N15, 14R10.

Keywords and phrases: factorial conjecture, Jacobian conjecture, locally nilpotent derivations, Mathieu–Zhao subspaces.

1. Introduction

The Jacobian conjecture (JC for short) asserts that any polynomial map $F : \mathbb{C}^n \rightarrow \mathbb{C}^n$ with nonzero constant Jacobian determinant is invertible (see [3] or [1]).

In 2011, van den Essen *et al.* [5] established a connection between the JC and images of derivations. They considered the following question.

QUESTION 1.1 [5, Question 4.1]. *Let D be a derivation of $\mathbb{C}[x, y]$ with divergence zero, that is, $\partial_x(D(x)) + \partial_y(D(y)) = 0$. Is $\text{Im}D$ a Mathieu–Zhao subspace of $\mathbb{C}[x, y]$?*

Throughout, a derivation always means a \mathbb{C} -derivation. Mathieu–Zhao subspaces (see Definition 3.1 below) are a kind of generalisation of ideals. Van den Essen *et al.* [5] showed that the two-dimensional JC holds if and only if Question 1.1 has an affirmative answer in the case $1 \in \text{Im}D$.

In 2017, the second author showed in [10] that Question 1.1 has a negative answer in general (see also [4] for a generalisation of the result). However, the following conjecture is still open for any $n \geq 3$.

This work was supported by the NSF of China (grants 11871241 and 11771176), the EDJP of China (JJKH20190185KJ) and the China Scholarship Council.

© 2019 Australian Mathematical Publishing Association Inc.

CONJECTURE 1.2 [14, Conjecture 1.7]. *Let D be a locally nilpotent derivation of $A := \mathbb{C}[x_1, x_2, \dots, x_n]$ (so that D is of divergence zero). Then $\text{Im}D$ is a Mathieu–Zhao subspace of A .*

Conjecture 1.2 holds for $n = 2$, since by Rentschler’s theorem (see [3, Theorem 1.3.48]) a locally nilpotent derivation of $\mathbb{C}[x, y]$ is conjugate by a \mathbb{C} -algebra automorphism of $\mathbb{C}[x, y]$ to a derivation of the form $f(x)\partial_y$, the image of which is the ideal $(f(x))$ and thus a Mathieu–Zhao subspace of $\mathbb{C}[x, y]$.

In this paper, we focus on Conjecture 1.2 in dimension $n = 3$. We find that the problem is related to integrals of polynomial functions and, more precisely, to the following factorial conjecture.

CONJECTURE 1.3 (Factorial conjecture (FC(n))) [6, Conjecture 4.2]). *Suppose that $f \in \mathbb{C}[x_1, x_2, \dots, x_n]$ is such that*

$$\int_{\mathbb{R}_{\geq 0}^n} f^m \cdot e^{-(x_1+x_2+\dots+x_n)} dx_1 dx_2 \cdots dx_n = 0$$

for all $m \geq 1$. Then $f = 0$.

The factorial conjecture was proposed by van den Essen *et al.* [6] to study the image conjecture, which also arose from the study of the Jacobian conjecture (see [6, 7, 9, 11]). Edo and van den Essen investigated a stronger version of the factorial conjecture in [2]. The factorial conjecture FC(n) has only been verified in the following cases: (1) $n = 1$; (2) $n = 2$ and f is quadratic homogeneous; (3) n is arbitrary and f has a very special form, for example, f is a power of a linear form or $f = c_1x_1^d + c_2x_2^d + \cdots + c_nx_n^d$, where $c_1, c_2, \dots, c_n \in \mathbb{C}$ (see [6]).

In Section 2, we show that the factorial conjecture holds for all homogeneous polynomials in two variables and we also establish a variant of this result. In Section 3, we apply the result to show that Conjecture 1.2 has an affirmative answer for any linear locally nilpotent derivation in dimension $n = 3$.

2. Factorial conjecture

Let $\mathbb{C}^{[n]} := \mathbb{C}[x_1, x_2, \dots, x_n]$ be the polynomial algebra in n variables over \mathbb{C} . For any $f \in \mathbb{C}^{[n]}$, let

$$E_1(f) := \int_{\mathbb{R}_{\geq 0}^n} f \cdot e^{-(x_1+x_2+\dots+x_n)} dx_1 dx_2 \cdots dx_n,$$

$$E_2(f) := \int_{\mathbb{R}^n} f \cdot \frac{e^{-(x_1^2+x_2^2+\dots+x_n^2)/2}}{(\sqrt{2\pi})^n} dx_1 dx_2 \cdots dx_n,$$

which are the expected values of f with respect to the exponential distribution and the Gaussian normal distribution, respectively. We can restate the factorial conjecture as: *if $f \in \mathbb{C}^{[n]}$ is such that $E_1(f^m) = 0$ for all $m \geq 1$, then $f = 0$.*

REMARK 2.1. The name ‘factorial conjecture’ comes from the fact that for any $i \in \mathbb{N}$, $E_1(t^i) = \int_0^\infty t^i e^{-t} dt = i!$ and, thus, for any monomial $M = x_1^{i_1} x_2^{i_2} \cdots x_n^{i_n}$,

$$E_1(M) = \int_{\mathbb{R}_{\geq 0}^n} x_1^{i_1} x_2^{i_2} \cdots x_n^{i_n} e^{-(x_1+x_2+\cdots+x_n)} dx_1 dx_2 \cdots dx_n = i_1! i_2! \cdots i_n!$$

LEMMA 2.2. $E_1(f) = E_2(f \frac{1}{2}(y_1^2 + z_1^2), \frac{1}{2}(y_2^2 + z_2^2), \dots, \frac{1}{2}(y_n^2 + z_n^2))$ for any $f \in \mathbb{C}^{[n]}$.

PROOF. Using the polar coordinate transformation of \mathbb{R}^2 ,

$$\begin{aligned} E_2\left(\left(\frac{t_1^2 + t_2^2}{2}\right)^i\right) &= \int_{\mathbb{R}^2} \left(\frac{t_1^2 + t_2^2}{2}\right)^i \frac{e^{-(t_1^2+t_2^2)/2}}{2\pi} dt_1 dt_2 = \int_0^\infty \int_0^{2\pi} \left(\frac{r^2}{2}\right)^i \frac{e^{-r^2/2}}{2\pi} r dr d\theta \\ &= \left(\int_0^\infty \left(\frac{r^2}{2}\right)^i e^{-r^2/2} d\frac{r^2}{2}\right) \left(\int_0^{2\pi} \frac{1}{2\pi} d\theta\right) = \int_0^\infty t^i e^{-t} dt = E_1(t^i) \end{aligned}$$

and it follows that $E_1(M) = E_2(M(\frac{1}{2}(y_1^2 + z_1^2), \frac{1}{2}(y_2^2 + z_2^2), \dots, \frac{1}{2}(y_n^2 + z_n^2)))$ for any monomial $M = x_1^{i_1} x_2^{i_2} \cdots x_n^{i_n}$. The conclusion follows. \square

In what follows, we will show that FC(n) holds in dimension $n = 2$ for all homogeneous polynomials f .

We first recall the usual polar coordinate transformation of \mathbb{R}^4 :

$$\begin{cases} x_1 = r \cos \theta_1, \\ x_2 = r \sin \theta_1 \cos \theta_2, \\ x_3 = r \sin \theta_1 \sin \theta_2 \cos \theta_3, \\ x_4 = r \sin \theta_1 \sin \theta_2 \sin \theta_3, \end{cases}$$

where $0 \leq r < \infty, 0 \leq \theta_1 \leq \pi, 0 \leq \theta_2, \theta_3 < 2\pi$. This polar coordinate transformation cannot be applied successfully to prove Theorem 2.6 below. So, we need to define a new coordinate transformation of \mathbb{R}^4 .

DEFINITION 2.3. Define a coordinate transformation of \mathbb{R}^4 as follows:

$$\begin{cases} x_1 = r \cos \theta_1 \cos \theta_2, \\ x_2 = r \cos \theta_1 \sin \theta_2, \\ x_3 = r \sin \theta_1 \cos \theta_3, \\ x_4 = r \sin \theta_1 \sin \theta_3, \end{cases} \tag{2.1}$$

where $0 \leq r < \infty, 0 \leq \theta_1 \leq (1/2)\pi, 0 \leq \theta_2, \theta_3 < 2\pi$. One may verify that

$$\begin{aligned} dx_1 dx_2 dx_3 dx_4 &= |\det J_{r,\theta_1,\theta_2,\theta_3}(x_1, x_2, x_3, x_4)| \cdot dr d\theta_1 d\theta_2 d\theta_3 \\ &= r^3 \sin \theta_1 \cos \theta_1 dr d\theta_1 d\theta_2 d\theta_3. \end{aligned}$$

The following lemma ensures that Definition 2.3 is reasonable.

LEMMA 2.4. *The map $\phi : M = [0, \infty) \times [0, (1/2)\pi] \times [0, 2\pi) \times [0, 2\pi) \rightarrow \mathbb{R}^4$ defined by formula (2.1) is almost one-to-one with the inverse given by*

$$\left\{ \begin{aligned} r &= \sqrt{x_1^2 + x_2^2 + x_3^2 + x_4^2}; \\ \theta_1 &= \arccos \frac{\sqrt{x_1^2 + x_2^2}}{\sqrt{x_1^2 + x_2^2 + x_3^2 + x_4^2}}; \\ \theta_2 &= \text{the unique angle in } [0, 2\pi) \text{ with } \cos \theta_2 = \frac{x_1}{\sqrt{x_1^2 + x_2^2}}, \sin \theta_2 = \frac{x_2}{\sqrt{x_1^2 + x_2^2}}; \\ \theta_3 &= \text{the unique angle in } [0, 2\pi) \text{ with } \cos \theta_3 = \frac{x_3}{\sqrt{x_3^2 + x_4^2}}, \sin \theta_3 = \frac{x_4}{\sqrt{x_3^2 + x_4^2}}. \end{aligned} \right. \tag{2.2}$$

More precisely, the map $\tilde{\phi}$ induced by ϕ with domain \tilde{M} defined by

$$(0, \infty) \times (0, \frac{1}{2}\pi) \times [0, 2\pi) \times [0, 2\pi) \rightarrow \{(x_1, x_2, x_3, x_4) \in \mathbb{R}^4 \mid x_1^2 + x_2^2 \neq 0, x_3^2 + x_4^2 \neq 0\}$$

is one-to-one.

PROOF. Let $P = (x_1, x_2, x_3, x_4) \in \mathbb{R}^4$ be such that $x_1^2 + x_2^2 \neq 0$ and $x_3^2 + x_4^2 \neq 0$. On one hand, if we take $M_0 = (r, \theta_1, \theta_2, \theta_3)$ to be the point determined by (2.2), then $M_0 \in \tilde{M}$ and one may verify by (2.1) that $\phi(M_0) = P$. On the other hand, if a point $M_0 = (r, \theta_1, \theta_2, \theta_3) \in \tilde{M}$ is such that $\phi(M_0) = P$, that is, M_0 satisfies (2.1), then one may see from (2.1) that M_0 must be of the form determined by (2.2). Therefore, the map $\tilde{\phi}$ is one-to-one. □

LEMMA 2.5 [8, Corollary 4.1]. *Suppose that $a, b \in \mathbb{R}$ and $a \neq b$. If $f \in \mathbb{C}[t]$ is such that $\int_a^b f^m dt = 0$ for all $m \geq 1$, then $f = 0$.*

THEOREM 2.6. *The factorial conjecture FC(2) holds for all homogeneous polynomials. More precisely, if $f \in \mathbb{C}[x, y]$ is homogeneous and*

$$E_1(f^m) = \int_0^\infty \int_0^\infty f^m e^{-(x+y)} dx dy = 0 \quad \text{for all } m \geq 1,$$

then $f = 0$.

PROOF. By Lemma 2.2, for any $m \geq 1$,

$$\begin{aligned} 0 &= E_1(f^m(x, y)) = E_2\left(f^m\left(\frac{x_1^2 + x_2^2}{2}, \frac{x_3^2 + x_4^2}{2}\right)\right) \\ &= \int_{\mathbb{R}^4} f^m\left(\frac{x_1^2 + x_2^2}{2}, \frac{x_3^2 + x_4^2}{2}\right) \frac{e^{-(x_1^2+x_2^2+x_3^2+x_4^2)/2}}{(2\pi)^2} dx_1 dx_2 dx_3 dx_4. \end{aligned}$$

Set $d := \deg f$. Using the coordinate transformation in Definition 2.3 with

$$dx_1 dx_2 dx_3 dx_4 = r^3 \sin \theta_1 \cos \theta_1 dr d\theta_1 d\theta_2 d\theta_3,$$

$$\begin{aligned}
 0 &= \int_M f^m\left(\frac{r^2 \cos^2 \theta_1}{2}, \frac{r^2 \sin^2 \theta_1}{2}\right) \frac{e^{-r^2/2}}{(2\pi)^2} r^3 \sin \theta_1 \cos \theta_1 \, dr \, d\theta_1 \, d\theta_2 \, d\theta_3 \\
 &= \int_M \left(\frac{r^2}{2}\right)^{dm} f^m(\cos^2 \theta_1, \sin^2 \theta_1) \frac{e^{-r^2/2}}{(2\pi)^2} r^3 \sin \theta_1 \cos \theta_1 \, dr \, d\theta_1 \, d\theta_2 \, d\theta_3 \\
 &= c \int_0^{\pi/2} f^m(\cos^2 \theta_1, \sin^2 \theta_1) \sin \theta_1 \cos \theta_1 \, d\theta_1,
 \end{aligned}$$

where $M = [0, \infty) \times [0, (\pi/2)] \times [0, 2\pi) \times [0, 2\pi)$ and

$$\begin{aligned}
 c &= \left(\int_0^\infty \left(\frac{r^2}{2}\right)^{dm} e^{-r^2/2} r^3 \, dr\right) \cdot \left(\int_0^{2\pi} \int_0^{2\pi} \left(\frac{1}{2\pi}\right)^2 \, d\theta_2 \, d\theta_3\right) \\
 &= \left(2 \int_0^\infty \left(\frac{r^2}{2}\right)^{dm+1} e^{-r^2/2} \, d\frac{r^2}{2}\right) \cdot 1 = 2(dm + 1)! \neq 0.
 \end{aligned}$$

It follows that

$$\begin{aligned}
 0 &= \int_0^{\pi/2} f^m(\cos^2 \theta_1, \sin^2 \theta_1) \sin \theta_1 \cos \theta_1 \, d\theta_1 \\
 &= \frac{1}{2} \int_0^{\pi/2} f^m(\cos^2 \theta_1, \sin^2 \theta_1) \, d(\sin^2 \theta_1) \\
 &= \frac{1}{2} \int_0^1 f^m(1 - t, t) \, dt
 \end{aligned}$$

and, by Lemma 2.5, $f(1 - t, t) = 0$.

Let $f = \sum_{j=0}^d c_j x^{d-j} y^j$, where $c_j \in \mathbb{C}$ for $j = 0, 1, \dots, d$. Then

$$\sum_{j=0}^d c_j (1 - t)^{d-j} t^j = 0,$$

which implies that $c_0 = 0$ by setting $t = 0$. Then $\sum_{j=1}^d c_j (1 - t)^{d-j} t^{j-1} = 0$ and it follows that $c_1 = 0$ for the same reason. Similarly, one may obtain that $c_2 = c_3 = \dots = c_d = 0$. Therefore, $f = 0$. □

Now we give a variation of Theorem 2.6.

THEOREM 2.7. *Let $f \in \mathbb{C}[x, y]$ be a homogeneous polynomial in two variables such that*

$$E_2\left(f^m\left(\frac{x_1^2 + x_2^2}{2}, y^2\right)\right) = 0 \quad \text{for all } m \geq 1.$$

Then $f = 0$.

PROOF. Let $d = \deg f$. Note that for any $m \geq 1$,

$$\begin{aligned} 0 &= E_2\left(f^m\left(\frac{x_1^2 + x_2^2}{2}, y^2\right)\right) \\ &= \int_{\mathbb{R}^3} f^m\left(\frac{x_1^2 + x_2^2}{2}, y^2\right) \frac{e^{-(x_1^2 + x_2^2 + y^2)/2}}{(\sqrt{2\pi})^3} dx_1 dx_2 dy. \end{aligned}$$

Using the polar coordinate transformation

$$\begin{cases} x_1 = r \sin \theta_1 \cos \theta_2, \\ x_2 = r \sin \theta_1 \sin \theta_2, \\ y = r \cos \theta_1, \end{cases}$$

where $0 \leq r < \infty$, $0 \leq \theta_1 \leq \pi$, $0 \leq \theta_2 < 2\pi$ and $dx_1 dx_2 dy = r^2 \sin \theta_1 dr d\theta_1 d\theta_2$,

$$\begin{aligned} 0 &= \int_{\mathbb{R}^3} f^m\left(\frac{x_1^2 + x_2^2}{2}, y^2\right) \frac{e^{-(x_1^2 + x_2^2 + y^2)/2}}{(\sqrt{2\pi})^3} dx_1 dx_2 dy \\ &= \int_0^\infty \int_0^\pi \int_0^{2\pi} r^{2dm} f^m\left(\frac{\sin^2 \theta_1}{2}, \cos^2 \theta_1\right) \frac{e^{-r^2/2}}{(\sqrt{2\pi})^3} r^2 \sin \theta_1 dr d\theta_1 d\theta_2 \\ &= \left(\int_0^\infty r^{2dm+2} \frac{e^{-r^2/2}}{\sqrt{2\pi}} dr\right) \left(-\int_0^\pi f^m\left(\frac{\sin^2 \theta_1}{2}, \cos^2 \theta_1\right) d \cos \theta_1\right) \left(\int_0^{2\pi} \frac{1}{2\pi} d\theta_2\right) \\ &= \frac{(2dm+1)!!}{2} \int_{-1}^1 f^m\left(\frac{1-t^2}{2}, t^2\right) dt \end{aligned}$$

for all $m \geq 1$, where $(2dm+1)!! = (2dm+1) \times (2dm-1) \times \cdots \times 1$.

It follows from Lemma 2.5 that $f(\frac{1}{2}(1-t^2), t^2) = 0$ and, as in the proof of the last theorem, we obtain $f = 0$. \square

3. Images of linear locally nilpotent derivations

In this section, we show that the image of any linear locally nilpotent derivation of the polynomial algebra $A = \mathbb{C}[x, y, z]$ is a Mathieu–Zhao subspace of A .

DEFINITION 3.1 [12]. A \mathbb{C} -subspace M of a commutative \mathbb{C} -algebra S is called a Mathieu–Zhao subspace if for each pair $f, g \in S$ with $f^m \in M$ for all $m \geq 1$, we have $gf^m \in M$ for all $m \gg 0$ (that is, there exists some m_g such that $gf^m \in M$ for all $m \geq m_g$).

The definition of Mathieu–Zhao subspaces was introduced by Zhao in [12] and called ‘Mathieu subspaces’ in some early literature. For more properties of Mathieu–Zhao subspaces, we refer the reader to [7, 13].

Recall that a derivation D of $\mathbb{C}^{[n]} = \mathbb{C}[x_1, x_2, \dots, x_n]$ is called locally nilpotent if for each $f \in \mathbb{C}^{[n]}$, there exists an $m_f \in \mathbb{N}$ such that $D^{m_f}(f) = 0$. Also, D is called linear if each $D(x_i)$ is a linear form.

LEMMA 3.2. Let $D = x\partial_y - y\partial_z$ and let $x^i y^k z^j$ be any monomial in $\mathbb{C}[x, y, z]$. If $i > j$, then $x^i y^k z^j \in \text{Im}D$.

PROOF. First observe that for any $i, j, k \in \mathbb{N}$,

$$D(x^i y^k z^j) = kx^{i+1}y^{k-1}z^j - jx^i y^{k+1}z^{j-1}. \tag{3.1}$$

We use induction on j to show that $x^i y^k z^j \in \text{Im}D$ if $i > j$. When $j = 0$, by setting $j = 0$ in (3.1), we have $x^{i+1}y^{k-1} \in \text{Im}D$ for any $i \in \mathbb{N}, k \geq 1$. Now suppose that $j > 0$ and $x^i y^{k+1} z^{j-1} \in \text{Im}D$ for any $i \in \mathbb{N}, k \geq 1$ with $i > j - 1$. Then, by (3.1), we have $x^{i+1}y^{k-1}z^j \in \text{Im}D$ for any $i \in \mathbb{N}, k \geq 1$ with $i + 1 > j$, as desired. \square

LEMMA 3.3. Let $D = x\partial_y - y\partial_z$ and let $f \in \mathbb{C}[x, y, z]$ be such that $f \in \text{Im}D$. Then $E_2(f((x - z\mathbf{i})/\sqrt{2}, y, (x + z\mathbf{i})/\sqrt{2})) = 0$.

PROOF. Using the polar coordinate transformation

$$x = \sqrt{2}r \cos \theta, \quad z = \sqrt{2}r \sin \theta \quad \text{and} \quad dx dz = 2r dr d\theta,$$

we have

$$\begin{aligned} E_2\left(\left(\frac{x - z\mathbf{i}}{\sqrt{2}}\right)^i \left(\frac{x + z\mathbf{i}}{\sqrt{2}}\right)^j\right) &= \int_{\mathbb{R}^2} \left(\frac{x - z\mathbf{i}}{\sqrt{2}}\right)^i \left(\frac{x + z\mathbf{i}}{\sqrt{2}}\right)^j \frac{e^{-(x^2+z^2)/2}}{(\sqrt{2\pi})^2} dx dz \\ &= \int_0^\infty \int_0^{2\pi} (r \cos \theta - r\mathbf{i} \sin \theta)^i (r \cos \theta + r\mathbf{i} \sin \theta)^j \frac{e^{-r^2}}{2\pi} 2r dr d\theta \\ &= \int_0^\infty \int_0^{2\pi} (re^{-i\theta})^i (re^{i\theta})^j \frac{e^{-r^2}}{2\pi} dr^2 d\theta \\ &= \left(\int_0^\infty r^{i+j} e^{-r^2} dr^2\right) \left(\int_0^{2\pi} e^{i\theta(j-i)} \frac{1}{2\pi} d\theta\right) = \begin{cases} i! & \text{for } i = j, \\ 0 & \text{for } i \neq j. \end{cases} \end{aligned}$$

Also note that

$$E_2(y^k) = \int_{-\infty}^\infty y^k \frac{e^{-y^2/2}}{\sqrt{2\pi}} = \begin{cases} (k-1)!! & \text{for } k \in 2\mathbb{N}, \\ 0 & \text{for } k \notin 2\mathbb{N}, \end{cases} \tag{3.2}$$

where $(k-1)!! = (k-1) \times (k-3) \times \dots \times 1$. So, for any monomial $M = x^i y^k z^j$,

$$E_2\left(M\left(\frac{x - z\mathbf{i}}{\sqrt{2}}, y, \frac{x + z\mathbf{i}}{\sqrt{2}}\right)\right) = \begin{cases} i!(k-1)!! & \text{for } i = j \text{ and } k \in 2\mathbb{N}, \\ 0 & \text{otherwise.} \end{cases} \tag{3.3}$$

Since $f \in \text{Im}D$, f is a \mathbb{C} -linear combination of the monomials considered in Lemma 3.2, that is, polynomials of the form

$$h_{i,j,k} := kx^{i+1}y^{k-1}z^j - jx^i y^{k+1}z^{j-1}.$$

By (3.2) and (3.3),

$$\begin{aligned} E_2\left(h_{i,j,k}\left(\frac{x - z\mathbf{i}}{\sqrt{2}}, y, \frac{x + z\mathbf{i}}{\sqrt{2}}\right)\right) &= \begin{cases} k(i+1)!(k-2)!! - (i+1)!k!! = 0 & \text{for } i+1 = j \text{ and } k-1 \in 2\mathbb{N}, \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

Therefore,

$$E_2\left(f\left(\frac{x - z\mathbf{i}}{\sqrt{2}}, y, \frac{x + z\mathbf{i}}{\sqrt{2}}\right)\right) = 0. \tag{3.4} \quad \square$$

THEOREM 3.4. *Let D be any linear locally nilpotent derivation of $A = \mathbb{C}[x, y, z]$. Then $\text{Im}D$ is a Mathieu–Zhao subspace of A .*

PROOF. We may assume that $D \neq 0$. Since D is a linear locally nilpotent derivation, D is nilpotent as a linear operator on $V := \mathbb{C}x + \mathbb{C}y + \mathbb{C}z$. So, there exists some linear polynomial automorphism T of A such that $(T^{-1} \circ D \circ T)|_V$ has the matrix E_{12} or $E_{12} - E_{23}$ with respect to the \mathbb{C} -basis x, y, z of V . That is, $T^{-1} \circ D \circ T$ is of the form $x\partial_y$ or $x\partial_y - y\partial_z$.

For any polynomial automorphism ϕ and any \mathbb{C} -subspace M of A , M is a Mathieu–Zhao subspace of A if and only if $\phi(M)$ is a Mathieu–Zhao subspace of A . So, we may assume without loss of generality that $D = x\partial_y$ or $D = x\partial_y - y\partial_z$. When $D = x\partial_y$, we see that $\text{Im}D$ is the ideal (x) and thus is a Mathieu–Zhao subspace of A .

From now on we assume that $D = x\partial_y - y\partial_z$. Consider the $w = (-1, 0, 1)$ -degree on $A = \mathbb{C}[x, y, z]$, so that $\deg x^i y^k z^j = j - i$. Suppose that $0 \neq f \in A$ is such that $f^m \in \text{Im}D$ for all $m \geq 1$. We divide the discussion into two cases.

Case 1: $\deg_w f < 0$. For any $g \in A$,

$$\deg_w g f^m = \deg_w g + m \deg_w f < 0$$

for $m \gg 0$ and thus $g f^m \in \text{Im}D$ for $m \gg 0$, by Lemma 3.2. It follows that $\text{Im}D$ is a Mathieu–Zhao subspace.

Case 2: $s := \deg_w f \geq 0$. We show that this case does not occur. Since $x^s \in \ker D$ and $f^m \in \text{Im}D$, we have $(x^s f)^m = x^{sm} f^m \in \text{Im}D$ and $\deg_w x^s f = (-s) + s = 0$. So, replacing f by $x^s f$, we may assume that $\deg_w f = 0$.

Let f_i be the w -homogeneous part of f of w -degree i . Then $f = f_0 + f_{-1} + \dots$. Note that $f^m = f_0^m + g$, where $\deg_w g < 0$. By Lemma 3.2, $g \in \text{Im}D$ and thus $f_0^m \in \text{Im}D$ for all $m \geq 1$. Replacing f by f_0 , we may assume that f is w -homogeneous of w -degree 0.

Denote by \bar{f} the highest homogeneous part of f with respect to the ordinary degree. Since D is a homogeneous derivation with respect to the ordinary degree, replacing f by \bar{f} , we may assume that f is homogeneous with respect to the ordinary degree. Replacing f by f^2 if necessary, we may also assume that $\deg f$ is even.

In conclusion, we may assume that f is w -homogeneous of w -degree 0 and is homogeneous of even degree with respect to the ordinary degree, that is, f is of the form $f = g(xz, y^2)$, where $g(t_1, t_2) \in \mathbb{C}[t_1, t_2]$ is homogeneous.

Since $f^m \in \text{Im}D$ for all $m \geq 1$, from Lemma 3.3,

$$E_2\left(f^m\left(\frac{x - z\mathbf{i}}{\sqrt{2}}, y, \frac{x + z\mathbf{i}}{\sqrt{2}}\right)\right) = 0 \quad \text{for all } m \geq 1,$$

that is,

$$E_2\left(g^m\left(\frac{x^2 + z^2}{2}, y^2\right)\right) = 0 \quad \text{for all } m \geq 1.$$

Since $g(t_1, t_2)$ is homogeneous, it follows from Theorem 2.7 that $g(t_1, t_2) = 0$ and thus $f = 0$, which is a contradiction. □

Acknowledgements

This paper was written during the authors' stay at Western Michigan University as visiting scholars. The authors are very grateful to Professor Gene Freudenburg for his kind hospitality and valuable discussions on locally nilpotent derivations and other topics in affine algebraic geometry.

References

- [1] H. Bass, E. Connel and D. Wright, 'The Jacobian conjecture: reduction of degree and formal expansion of the inverse', *Bull. Amer. Math. Soc.* **7** (1982), 287–330.
- [2] E. Edo and A. van den Essen, 'The strong factorial conjecture', *J. Algebra* **397** (2014), 443–456.
- [3] A. van den Essen, *Polynomial Automorphisms and the Jacobian Conjecture*, Progress in Mathematics, 190 (Birkhäuser, Basel–Boston–Berlin, 2000).
- [4] A. van den Essen and X. Sun, 'Monomial preserving derivations and Mathieu–Zhao subspaces', *J. Pure Appl. Algebra* **222** (2018), 3219–3223.
- [5] A. van den Essen, D. Wright and W. Zhao, 'Images of locally finite derivations of polynomial algebras in two variables', *J. Pure Appl. Algebra* **215**(9) (2011), 2130–2134.
- [6] A. van den Essen, D. Wright and W. Zhao, 'On the image conjecture', *J. Algebra* **340**(1) (2011), 211–224.
- [7] A. van den Essen and W. Zhao, 'Mathieu subspaces of univariate polynomial algebra', *J. Pure Appl. Algebra* **217**(9) (2013), 1316–1324.
- [8] J. P. Francoise, F. Pakovich, Y. Yomdin and W. Zhao, 'Moment vanishing problem and positivity: some examples', *Bull. Sci. Math.* **135** (2011), 10–32.
- [9] D. Liu and X. Sun, 'Images of higher-order differential operators of polynomial algebras', *Bull. Aust. Math. Soc.* **96**(2) (2017), 205–211.
- [10] X. Sun, 'Images of derivations of polynomial algebras with divergence zero', *J. Algebra* **492** (2017), 414–418.
- [11] W. Zhao, 'Images of commuting differential operators of order one with constant leading coefficients', *J. Algebra* **324**(2) (2010), 231–247.
- [12] W. Zhao, 'Generalizations of the image conjecture and the Mathieu conjecture', *J. Pure Appl. Algebra* **214**(7) (2010), 1200–1216.
- [13] W. Zhao, 'Mathieu subspaces of associative algebras', *J. Algebra* **350**(1) (2012), 245–272.
- [14] W. Zhao, 'Some open problems on locally finite or locally nilpotent derivations and ε -derivations', *Contemp. Math.* **20**(4) (2019), Article ID 1750056.

DAYAN LIU, School of Mathematics, Jilin University,
Changchun, 130012, China
e-mail: liudayan@jlu.edu.cn

XIAOSONG SUN, School of Mathematics, Jilin University,
Changchun, 130012, China
e-mail: sunxs@jlu.edu.cn